BASIC ALGEBRA Exam 2 (One Step Ch 2) FORMS A and B Dr. Rapalje

BASIC ALGEBRA Exam 2A* Name
Show all work on this test or on separate paper! Calculators ARE allowed on this test!

In 1 - 6, multiply the expressions:
L{x+2)}{x+5) 2. -4x(3x - 5) 3 (2x + 3)ix-6)

4. (2% - S¥)(2x + Sv) 5, (2x+ Sy 6. [x - 2)(x" - 3x + T}

In 7 - 15, factor completely.

7. 3x% + 6x 8 v -2x-% 9, x°-49
10, x*+ 20x + 36 1. 3x% + 23x + 14 12. 2x*-3x-5
13, 3% + 126 + 9x 14. ¢ - 16 15 a7 - 137 + 36

In 16 - 20, solve for x.
16. (x -9}x + 4) =10 17, 2 -4y -21=10 18, xix+ 10)=-24

19. ¥=3+2x 30, 4(x" + 10) = 26x

235



21,  According to the Theorem of a) »where “a” and “b" are begs, and “c”
is the b} » bt may be concluded that ¢}

11, Find x: g 2% Find x: 14. Find x: l

Im 22 - 35, simplify using ihe laws of exponents, Eluminate all negative

CAMOBENTS,
Hﬂ 2ac? ’
38 3% - 6. 7 (x™yt 8, -
xt ¥
29, 4x! . (dx) ! i, 4x* 32, (4%
% 2.8 | 52 3. -9 3
33, (x *x%) 34, I'EJ 3. (3x7y )

In 36 - 5%, expross answers in scientific notation.

0.00025

X, 4200 060 (HHY 7. Dn(HMERS 3R. 500,000 - 7,000,000 -, 5000

In 40 - 41, fimd all valuwis of 3 for which the equation is troe:
40, x% = 9% + gF 4. x* ¢+ 9* - 15?
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BASIC ALGEBRA EXAM @ B* NAME
SHOW ALL WORK ON THIS TEST OR ON SEPARATE PAPER. Circle answers.
TURN IN ALL WORKSHEETS, CALCULATORS ARE FERMITTED ON THIS TEST.

In 1 = 6, multiply the expressions:
Lix+ 3)(z + 4} 2, -5x(3x - 6) 3. (x-6)x+6)

4. (25 - TyW2x - 5y) 5 (5x-2y)° 6. (x - 3x" - Ix + 4)

Ia 7 - 15, factor completely.

T, 3t - 12x 8 2 -8 9, x°- l4x + 49
10, 52X+ 225 + 40 11, 3% + 13x + 14 12, 257 + 33 -5
13, 3t ot - 2o 14, «° +3x - 28x- 78 15, & +ay -6y

Ini 16 = 20, solve for x.
16, {(x + 5)ix-3) =0 17. x - 10x + 21 = 0 18, wix+ 10) =24

19. =8+ 2x M, x(2x-9)=5
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21, According to the Theorem of a) , where “a™ and “b" are legs, and

“c™ is the h) s it may be concluded thai ¢)

22, Find x: 23, Find x: 24. Find x:

| N7 an py

15
7

Im 25 - 35, simplify using the laws of exponents. Eliminate all negative exponents.

B 4 )2

25, 24 - 21 26, (x1)° 27, I—i 28, [ 3y ]

X - 4x?
29, 5x° 30, S5xt 3. (57 32. (5x)
3B (x"xh? 34, {%F“ 35 (Sxiy™H?
In 36 = 39, express answers in scientific notation.
M, TIE,000 37, DAMHHIE 35 S8, 0.004 « 0. 00000008 ﬂ

0.00025

In 40 - 41, find all values of x for which the equation is frue:
40, x? + 24% = 257 41 & + 10* = x*

239



Basic Algebra. ELvam 28% Solatins
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